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ex=1 ln x=0 √x+6=8
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e−x
2

−1
4
=0 ln x2=2 2⋅√x−5+3=7
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xex+3e x=0 ln x−ln(x+3)=0 x−13√x+36=0
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e2 x−3ex+2=0 (ln x)2+2ln x=0 x−41√x=−400
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2 e2 x+4 e x−30=0 (ln x+1)2=4 x−12√x−64=0



√x+6 = 8     | ()2

x+6 = 64    |−6
x = 58

ln x = 0        |e()

x = e0

x = 1

ex = 1           | ln()
x = ln(1)
x = 0
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2⋅√x−5 = 4     |⋅1
2

√x−5 = 2     |()2

x−5 = 4     |+5
x = 9

ln x2 = 2     | e()

x2 = e2   |√
x1 = e
x2 =−e

e−x
2

= 1
4

       | ln( )

−x2 = ln(1
4

)       |

x1 ≈ 1,177
x2 ≈ −1,177
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(√x)2
−13√x+36 = 0 |√x=u

u2−13u+36 = 0

u1=9  ⇒  √x=9  ⇒  x1=81

u2=4  ⇒  √x=4  ⇒  x2=16

ln x = ln (x+3)     |e( )

x = x+3       |−x
0 = 3        |

es gibt keine Lösungen

ex (x+3) = 0
x =−3
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(√x)2
−41√x+400 = 0 | √x=u

u2−41u+400 = 0

u1=25  ⇒  √x=25  ⇒  x1=625

u2=16  ⇒  √x=16  ⇒  x2=256

ln x⋅(ln x+2)=0

ln x1=0  ⇒  x1=e
0=1

ln x2+2=0  ⇒  x2=e
−2≈0,135

(ex)2−3ex+2 = 0    |ex=u
u2−3u+2 = 0

u1=2 ⇒  ex=2  ⇒  x=ln (2)

u2=1 ⇒  ex=1  ⇒  x=ln(1)=0
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(√x)2
−12√x−64 = 0 |√x=u

u2−12u−64 = 0

u1=16  ⇒  √x=16  ⇒  x1=256

u2=−4  ⇒  √x=−4 nicht möglich

( ln x+1)2 = 4        |√
ln x+1 =±2       |−1
ln x =±2−1  |e( )

x1 = e1=e
x2 = e−3≈0,050

2(ex )2+4 ex−30 = 0    |ex=u
2u2+4u−30 = 0

u1=−5  ⇒  e x=−5  nicht möglich

u2=3  ⇒  ex=3  ⇒  x=ln (3)
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